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Multiple Choice Questions

1. The eccentricity of the hyperbola

 is:4x2 − 9y2 = 36

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_a3JXEG3Yhx4a


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√11

3

√15

3

√13

3

√132

2. The length of the latus rectum of the ellipse

 is:16x2 + 25y2 = 400

https://dl.doubtnut.com/l/_a3JXEG3Yhx4a
https://dl.doubtnut.com/l/_60fWot5IXDUt


A. 5/16 unit

B. 32/5 unit

C. 16/5 unit

D. 5/32 unit

Answer:

Watch Video Solution

3. The vertex of the parabola

 is:y2 + 6x − 2y + 13 = 0

https://dl.doubtnut.com/l/_60fWot5IXDUt
https://dl.doubtnut.com/l/_F0OSp1oqDj3g


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(1, − 1)

( − 2, 1)

( , 1)
3

2

( − , 1)
7
2

4. The coordinates of a moving point p are

. Then its locus will be a(2t2 + 4, 4t + 6)

https://dl.doubtnut.com/l/_F0OSp1oqDj3g
https://dl.doubtnut.com/l/_WxZxSfUyK4pW


A. circle

B. straight line

C. parabola

D. ellipse

Answer:

Watch Video Solution

5. The equation

 represents8x2 + 12y2 − 4x + 4y − 1 = 0

https://dl.doubtnut.com/l/_WxZxSfUyK4pW
https://dl.doubtnut.com/l/_exnwrrBlQ7YQ


A. an ellipse

B. a hyperbola

C. a parabola

D. a circle

Answer:

Watch Video Solution

6. If the straight line y=mx lies outside of the

circle  , then the value

of m will satisfy

x2 + y2 − 20y + 90 = 0

https://dl.doubtnut.com/l/_exnwrrBlQ7YQ
https://dl.doubtnut.com/l/_OqrtQSqo2SVS


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

m < 3

|m| < 3

m > 3

|m| > 3

7. The locus of the centre of a circle which

passes through two variable points (a, 0), (-a,

0) is:

https://dl.doubtnut.com/l/_OqrtQSqo2SVS
https://dl.doubtnut.com/l/_p4AsD7L9Zd8I


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x = 1

x + y = a

x + y = 2a

x = 0

8. The coordinates of the two points lying on x

+ y = 4 and at a unit distance from the straight

Iine  are4x + 3y = 10

https://dl.doubtnut.com/l/_p4AsD7L9Zd8I
https://dl.doubtnut.com/l/_1SKRy5AHYgNH


A. (-3,1), (7,11)

B. (3,1), (-7,11)

C. (3,1), (7,11)

D. (5, 3), (-1,2)

Answer:

Watch Video Solution

9. The intercept oil the line y = x by the circle

 is AB. Equation of the circle

with AB as diameter is

x2 + y2 − 2x = 0

https://dl.doubtnut.com/l/_1SKRy5AHYgNH
https://dl.doubtnut.com/l/_n2F2EHiP4s5R


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 = 1

x(x − 1) + y(y − 1) = 0

x2 + y2 = 2

(x − 1)(x − 2) + (y − 1)(y − 2) = 0

10. If the coordinates of one end of a diameter

of the circle  is

(2,1), the coordinates of ihe other end is

x2 + y2 + 4x − 8y + 5 = 0

https://dl.doubtnut.com/l/_n2F2EHiP4s5R
https://dl.doubtnut.com/l/_Avert7xknTzy


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 6, − 7)

(6, 7)

( − 6, 7)

(7, − 6)

11. If the three points A(1,6), B(3,-4) and C(x,y)

collinear then the equation satisfying by x and

y is

https://dl.doubtnut.com/l/_Avert7xknTzy
https://dl.doubtnut.com/l/_POLvhrzLMWRC


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5x + y − 11 = 0

5x + 13y + 5 = 0

5x − 13y + 5 = 0

13x − 5y + 5 = 0

12. If  and  lies in the second

quadrant, then cos  is equal to

sin θ =
2t

1 + t2
θ

θ

https://dl.doubtnut.com/l/_POLvhrzLMWRC
https://dl.doubtnut.com/l/_i5zUsODvZvi9


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1 − t2

1 + t2

t2 − 1

1 + t2

−∣∣1 − t2∣∣

1 + t2

1 + t2

|1 − t2|

13. The solution set of the inequation

 is:cos − 1 x < sin− 1
x

https://dl.doubtnut.com/l/_i5zUsODvZvi9
https://dl.doubtnut.com/l/_D3rEOVW7wiy3


A. [-1,1]

B. 

C. 

D. 

Answer:

Watch Video Solution

[ , 1]
1

√2

[0, 1]

( , 1]
1

√2

14. The number of solutions of

 is:2 sinx + cos x = 3

https://dl.doubtnut.com/l/_D3rEOVW7wiy3
https://dl.doubtnut.com/l/_oDtxMDrRX3Am


A. 1

B. 2

C. infinite

D. No solutions

Answer:

Watch Video Solution

15. Let  and ,

then  is:

tanα =
a

a + 1
tanβ =

1

2a + 1

α + β

https://dl.doubtnut.com/l/_oDtxMDrRX3Am
https://dl.doubtnut.com/l/_D3WjHEYa7LSY


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π/4

π/3

π/2

π

16. If , then 

 is equal to:

θ + ϕ = π/4

(1 + tan θ)(1 + tanϕ)

https://dl.doubtnut.com/l/_D3WjHEYa7LSY
https://dl.doubtnut.com/l/_5AeQP0vCcHJ0


A. 1

B. 2

C. 

D. 

Answer:

Watch Video Solution

5/2

1/3

17. If  and  are the roots of the

equation , then a, b and c

satisfy the relation

sin θ cos θ

ax2 − bx + c = 0

https://dl.doubtnut.com/l/_5AeQP0vCcHJ0
https://dl.doubtnut.com/l/_UsYC4wH4HKNx


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a2 + b2 + 2ac = 0

a2 − b2 + 2ac = 0

a2 + c2 + 2ab = 0

a2 − b2 − 2ac = 0

18. If A and B are two matrices such that A + B

and AB are both defined, then:

https://dl.doubtnut.com/l/_UsYC4wH4HKNx
https://dl.doubtnut.com/l/_pBKwHNGauSrL


A. A and B can be any matrices

B. A, B are square matrices not necessarily

of the same order

C. A, B are square matrices of the same

order

D. number of columns of A = number of

rows of B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pBKwHNGauSrL
https://dl.doubtnut.com/l/_y8Ji521o828T


19. If  is a symmetric

matrix, then the value of x is

A. 4

B. 3

C. 

D. 

Answer:

Watch Video Solution

A = [
3 x − 1

2x + 3 x + 2
]

−4

−3

https://dl.doubtnut.com/l/_y8Ji521o828T
https://dl.doubtnut.com/l/_WFfjACLj1BDg


20. If , then 

A. z is purely real

B. z is purely imaginary

C. 

D.  is purely imaginary

Answer:

Watch Video Solution

Z =
∣
∣

∣
∣

1 1 + 2i 5i

1 − 2i −3 5 + 3i

5i 5 − 3i 7

∣
∣

∣
∣

(i = √−1)

z + z̄ = 0

(z + z̄)i

https://dl.doubtnut.com/l/_WFfjACLj1BDg
https://dl.doubtnut.com/l/_raik3iRKZQhv


21. The equation of the locus of the point of

intersection of the straight lines

 and 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x sin θ + (1 − cos θ)y = a sin θ

x sin θ − (1 + cos θ)y + a sin θ = 0

y = ± ax

x = ± ay

y2 = 4ax

x2 + y2 = a2

https://dl.doubtnut.com/l/_raik3iRKZQhv


22. If  and , then 

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

sin θ + cos θ = 0 0 < θ < π

θ =

π

4

π

2

3π

4

https://dl.doubtnut.com/l/_raik3iRKZQhv
https://dl.doubtnut.com/l/_S1TLNNuCBcNB


23. The value of  is:

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

cos 15∘ − sin 15∘

1

√2

−
1

√2

1

2√2

https://dl.doubtnut.com/l/_ta8HLUYnMWy4


24. the period of the function

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) = cos 4x + tan 3x

π

π

2

π

3

π

4

https://dl.doubtnut.com/l/_76MHCVXSZas7
https://dl.doubtnut.com/l/_2LxxMCtN6EFm


25. If , then for x=2

and , the value of  is:

A. 

B. 

C. 0

D. 

Answer:

Watch Video Solution

y = 2x3 − 2x2 + 3x − 5

Δx = 0.1 Δy

2.002

1.9

0.9

https://dl.doubtnut.com/l/_2LxxMCtN6EFm


26. The approximate value of  correct to 4

decimal places is

A. 

B. 2.1001

C. 2.0125

D. 

Answer:

Watch Video Solution

5√33

2.0000

2.0500

https://dl.doubtnut.com/l/_y1ytvPhRojWT
https://dl.doubtnut.com/l/_isWhDztCOrcX


27. The value of  dx is

:

A. 2

B. 0

C. 

D. 4

Answer:

Watch Video Solution

∫
2

− 2
(x cos x + sinx + 1)

−2

https://dl.doubtnut.com/l/_isWhDztCOrcX


28. For the function , Rolle's

theorem is:

A. applicable when 

B. applicable when 

C. applicable when 

D. applicable when 

Answer:

Watch Video Solution

f(x) = ecos x

≤ x ≤
π

2

3π

2

0 ≤ x ≤
π

2

0 ≤ x ≤ π

≤ x ≤
π

4

π

2

https://dl.doubtnut.com/l/_QUdTlxoOXrMF
https://dl.doubtnut.com/l/_cz0Z1iMDLpYC


29. The general solution of the differential

equation: 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ 8 + 16y = 0
d2y

dx
2

dy

dx

(A + Bx)e5x

(A + Bx)e− 4x

(A + Bx2)e4x

(A + Bx4)e4x

https://dl.doubtnut.com/l/_cz0Z1iMDLpYC
https://dl.doubtnut.com/l/_QURD9zQ3la7s


30. If , then =

A. 4

B. 0

C. 1

D. 

Answer:

Watch Video Solution

x2 + y2 = 4 y + x
dy

dx

−1

https://dl.doubtnut.com/l/_QURD9zQ3la7s


31. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
x3dx

1 + x8

4 tan− 1 x3 + c

tan− 1 x4 + c
1

4

x + 4 tan− 1 x4 + c

x2 + tan− 1 x4 + c
1

4

https://dl.doubtnut.com/l/_kNiNC9ayZAJx


32. =

A. 0

B. 32

C. 30

D. 28

Answer:

Watch Video Solution

∫
16π

π

|sinx|dx

https://dl.doubtnut.com/l/_9qu3TRoQfBtw


33. The degree and order of the differential

equation 

 are respectively:

A. 1,1

B. 2,1

C. 4,1

D. 1,4

Answer:

Watch Video Solution

y = x( )
2

+ ( )
2

dy

dx

dx

dy

https://dl.doubtnut.com/l/_uiU84kVYQzHK


34.  


The function f(x) is:

A. increasing when 

B. strictly increasing when 

C. strictly increasing at 

D. not continuous at  and so it is not

increasing when 

Answer:

Watch Video Solution

f(x) = {
0 x = 0

x − 3 x > 0

x ≥ 0

x > 0

x = 0

x = 0

x > 0

https://dl.doubtnut.com/l/_uiU84kVYQzHK
https://dl.doubtnut.com/l/_hU9x8pWpbM7b


35. The function f(x) = ax + b is strictly

increasing for all real x if

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a > 0

a < 0

a = 0

a ≤ 0

https://dl.doubtnut.com/l/_hU9x8pWpbM7b
https://dl.doubtnut.com/l/_yZ9abplxCq1d


36.  dx=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
cos 2x

cos x

2 sinx + log|secx + tanx| + c

2 sinx − log|secx − tanx| + C

2 sinx − log|secx + tanx| + C

2 sinx + log|secx − tanx| + C

https://dl.doubtnut.com/l/_yZ9abplxCq1d
https://dl.doubtnut.com/l/_YLZDykaUEemC


37.  dx.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

− sin 2x + C
1

2

sin 2x + C
1

2

sinx + C
1

2

− sinx + C
1

2

https://dl.doubtnut.com/l/_xhtYBYLCYzd7


38. The general solution of the differential

equation  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

loge( ) = x + y
dy

dx

ex + e−y = C

ex + ey = C

ey + e−x = C

e−x + e−y = C

https://dl.doubtnut.com/l/_aTrmbMnc62BR
https://dl.doubtnut.com/l/_ewWLLErUI3GQ


39. If , then  =

A. 2y

B. 

C. 

D. 

Answer:

Watch Video Solution

y = + Bx2A

x
x2 d

2y

dx
2

y2

y3

y4

https://dl.doubtnut.com/l/_ewWLLErUI3GQ


40. If one of the cube roots of 1 be , then 

A. 

B. 1

C. -1

D. 0

Answer:

Watch Video Solution

ω

∣
∣
∣
∣
∣

1 1 + ω2 ω2

1 − i −1 ω2 − 1

− i −1 + ω −1

∣
∣

∣

∣
∣

=

ω

https://dl.doubtnut.com/l/_PQJpjtF6nFs9


41. 4 boys and 2 girls occupy seats in a row at

random. Then the probability that the two

girls occupy seats side by side is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

4

1

3

1

6

https://dl.doubtnut.com/l/_jnhyjVZdOACu


42. A coin is tossed again and again. If tail

appears on first three tosses, then the chance

that head appears on fourth toss is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

16

1

2

1

8

1

4

https://dl.doubtnut.com/l/_eU7WfDmnSIrC


43. The coefficient of  in the expansion of 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

xn

e7x + ex

e3x

4n− 1 − ( − 2)
n− 1

⌊n

4n− 1 − 2n− 1

⌊n

4n − 2n

⌊n

4n + ( − 2)
n

⌊n

https://dl.doubtnut.com/l/_1ozXZW6Jrswr
https://dl.doubtnut.com/l/_6X17S7PC6rdZ


44. The sum of the series: 

……….  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− + −
1

1.2

1

2.3

1

3.4

1

4.5
∞

2 loge 2 + 1

2 loge 2

2 log2 2 − 1

loge 2 − 1

https://dl.doubtnut.com/l/_6X17S7PC6rdZ


45. The number  is divisible by:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(101)100 − 1

104

106

108

1012

https://dl.doubtnut.com/l/_0jFdWiTAKQZ6


46. If A and B are coefficients of  in the

expansions of  and 

respectively, men A/B is equal to

A. 4

B. 2

C. 9

D. 6

Answer:

Watch Video Solution

xn

(1 + x)2n (1 + x)2n− 1

https://dl.doubtnut.com/l/_2ENxrYOUN9ul


47. If  is an integer and  , then 

 is divisible by:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n > 1 x ≠ 0

(1 + x)n − nx − 1

nx3

n3x

x

nx

https://dl.doubtnut.com/l/_J2AdaLoxtAlD
https://dl.doubtnut.com/l/_G0vv43QyhG4P


48. If  and  are in A.P., then n is:

A. 7 or 14

B. 7

C. 14

D. 14 or 21

Answer:

Watch Video Solution

nC4, nC5 '
nC6

https://dl.doubtnut.com/l/_G0vv43QyhG4P


49. The number of diagonals in a polygon is

20. The number of sides of the polygon is:

A. 5

B. 6

C. 8

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WBmkp0ZlVMRU
https://dl.doubtnut.com/l/_C2otSHwuQizw


50.  + ………  =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15C3 + 15C5 + 15C15

214

214 − 15

214 + 15

214 − 1

https://dl.doubtnut.com/l/_C2otSHwuQizw


51. Let a, b, c be three real numbers such that a

+ 2b + 4c = 0. Then the equation

A. has both the roots complex

B. has its roots lying within 

C. has one of the roots equal to 

D. has its roots lying within 

Answer:

Watch Video Solution

ax2 + bx + c = 0

−1 < x < 0

1

2

2 < x < 6

https://dl.doubtnut.com/l/_mBmxqeD5zo0Y


52. If the ratio of the roots of the equation

 is a:b, then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

px2 + qx + r = 0
ab

(a + b)
2

p2

qr

pr

q2

q2

pr

pq

r2

https://dl.doubtnut.com/l/_FCH0xLpiTUoj
https://dl.doubtnut.com/l/_aKKjGXzD2jhV


53. If  and  are the roots of the equation 

 , then me equation whose

roots are  and  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α β

x2 + x + 1 = 0

α19 β7

x2 − x − 1 = 0

x2 − x + 1 = 0

x2 + x − 1 = 0

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_aKKjGXzD2jhV
https://dl.doubtnut.com/l/_X2o41l5KozRo


54. For the real parameter t, the locus of the

complex number: 

, in the complex

plane is:

A. an ellipse

B. a parabola

C. a circle

D. a hyperbola

Answer:

Watch Video Solution

z = (1 − t2) + i√1 + t2

https://dl.doubtnut.com/l/_X2o41l5KozRo


55. If , then for any integer 

 =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x + = 2 cos θ
1

x

n, xn +
1

xn

2 cos nθ

2 sinnθ

2i cos nθ

2i sinnθ

https://dl.doubtnut.com/l/_X2o41l5KozRo
https://dl.doubtnut.com/l/_elMerU2H2YME


56. If  is a cube root of unity, then the

sum of the series 

 is:

A. 

B. 

C. 

D. 0

Answer:

Watch Video Solution

ω ≠ 1

S = 1 + 2ω + 3ω2 + ……. + 3nω3n− 1

3n

ω − 1

3n(ω − 1)

ω − 1

3n

https://dl.doubtnut.com/l/_elMerU2H2YME
https://dl.doubtnut.com/l/_HnsGKP26jIZx


57. If  and 

, then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

log3 x + log3 y = 2 + log3 2

log3(x + y) = 2

x = 1, y = 8

x = 8, y = 1

x = 3, y = 6

x = 9, y = 3

https://dl.doubtnut.com/l/_HnsGKP26jIZx
https://dl.doubtnut.com/l/_MJ41SxoDOjs0


58. If , then the value of  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

log7 2 = λ log49(28)

(2λ + 1)

(2λ + 3)

(2λ + 1)
1

2

2(2λ + 1)

https://dl.doubtnut.com/l/_N0tk6gg4nWUs


59. The sequence 

is:

A. a G.P.

B. an A.P.

C. a H.P.

D. both a G.P. and a H.P.

Answer:

Watch Video Solution

loga, log( ), log( )
a2

b

a3

b2

https://dl.doubtnut.com/l/_PgeDcYTz03CC
https://dl.doubtnut.com/l/_HohWVxNvlKjq


60. If in a triangle ABC, sin A, sin B, sin C are in

A.P, then

A. the altitudes are in A.P

B. the altitudes are in H.P.

C. the angles are in A.P.

D. the angles are in H.P.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HohWVxNvlKjq


61. 

A. 0

B. 

C. 1

D. 2

Answer:

Watch Video Solution

∣
∣
∣
∣

a − b b − c c − a

b − c c − a a − b

c − a a − b b − c

∣
∣

∣
∣

=

−1

https://dl.doubtnut.com/l/_FWR2gbjEF0dg


62. The area enclosed between  and 

 is:

A. 

B.  sq. units

C.  sq.units

D.  sq. units

Answer:

Watch Video Solution

y2 = x

y = x

sq. units
2

3

1

2

1

3

1

6

https://dl.doubtnut.com/l/_5eaEjy9cNfEp
https://dl.doubtnut.com/l/_HewMaTYIgnXm


63. Let . Then the

maximum value of  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) = x3e− 3x, x > 0

f(x)

e− 3

3e− 3

27e− 9

∞

https://dl.doubtnut.com/l/_HewMaTYIgnXm


64. The area bounded by  and 

 is:

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer:

Watch Video Solution

y2 = 4x

x2 = 4y

20

3

16

3

14
3

10

3

https://dl.doubtnut.com/l/_p3t2y5F8OFe0
https://dl.doubtnut.com/l/_Erer0zI7hxCj


65. The acceleration of a particle starting from

rest moving in a straight line with uniform

acceleration is . The time taken by the

particle to move the second metre is:

A.  sec

B.  sec

C.  sec

D.  sec

Answer:

Watch Video Solution

8m/sec2

√2 − 1

2

√2 + 1

2

(1 + √2)

(√2 − 1)

https://dl.doubtnut.com/l/_Erer0zI7hxCj


66. The solution of: 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

= +
dy

dx

y

x

tany

x

x = c sin(y/x)

x = c sin(xy)

y = c sin(y/x)

xy = c sin(x/y)

https://dl.doubtnut.com/l/_Erer0zI7hxCj
https://dl.doubtnut.com/l/_MFvZg2wF1IW0


67. Integrating Factor (I.F). Of the differential

equation: 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

− y =
dy

dx

3x2

1 + x3

sin2 x

1 + x

e1 +x3

log(1 + x3)

1 + x3

1

1 + x3

https://dl.doubtnut.com/l/_PtH94cXQOv3F


68. The differential equation of  (a &

b are parameters) is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

y = aebx

yy1 = y2
2

yy2 = y2
1

yy2
1 = y2

yy2
2 = y1

https://dl.doubtnut.com/l/_lAwJrK0NXInI
https://dl.doubtnut.com/l/_ISk2E8auZIuS


69. The value of: 

 is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

lim
n→ ∞

n

∑
r= 1

r2

r3 + n3

π

4

π

2

loge 2
1

3

loge 2
1

2

https://dl.doubtnut.com/l/_ISk2E8auZIuS


70. The value of  is:

A. 0

B. 

C. 

D. 1

Answer:

Watch Video Solution

∫
π

0

sin50 x cos49 xdx

π/4

π/2

https://dl.doubtnut.com/l/_LEAcr8BV2432


71.  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫2x[f' (x) + f(x)(log 2)]dx

2xf' (x) + C

2xf(x) + C

2x(log 2)f(x) + C

(log 2)f(x) + C

https://dl.doubtnut.com/l/_c7OHPDdTaunb


72. Let . Then 

is =0, when x is equal to:

A. 0

B. 

C. 1

D. 

Answer:

Watch Video Solution

f(x) = tan− 1 x f' (x) + f' ' (x)

±1

− i

https://dl.doubtnut.com/l/_dtnSGbGNQ584
https://dl.doubtnut.com/l/_7HBqoYi0Zi4j


73. If  , then 

=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

y = tan− 1( )
√1 + x2 − 1

x
y' (1)

1/4

1/2

−1/4

−1/2

https://dl.doubtnut.com/l/_7HBqoYi0Zi4j


74. The value of

 is:

A. n

B. 

C. 

D. 

Answer:

Watch Video Solution

lim
x→ 1

x + x2 + …. . + xn − n

x − 1

n + 1

2

n(n + 1)

2

n(n − 1)

2

https://dl.doubtnut.com/l/_TtwEewx5OIGf
https://dl.doubtnut.com/l/_F2o5P16iKp0a


75.  =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

lim
x→ 0

sin(π sin2 x)

x2

π2

3π

2π

π

https://dl.doubtnut.com/l/_F2o5P16iKp0a


76. If the function: 

 is

continous at x=2, then

A. A=0

B. A=1

C. A=-1

D. A=2

Answer:

Watch Video Solution

f(x) = {
for x ≠ 2

2 for x = 2

x2 − (A+ 2 ) x+A

x− 2

https://dl.doubtnut.com/l/_3N2px7MMdkJE


77. , If

f(x) is continous at x=2, the value of  will be:

A. 

B. 1

C. 0

D. 2

Answer:

Watch Video Solution

f(x) = {
[x] + [ − x] when x ≠ 2

λ when x = 2

λ

−1

https://dl.doubtnut.com/l/_3N2px7MMdkJE
https://dl.doubtnut.com/l/_UYZLZnqTVdZn


78. The even function of the following is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x) =
ax + a−x

ax − a−x

f(x) =
ax + 1
ax − 1

f(x) = x.
ax − 1
ax + 1

f(x) = log2(x + √x2 + 1)

https://dl.doubtnut.com/l/_5edjQ1vHWvHm


79. If , then  is

equal to:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

f(x + 2y, x − 2y) = xy f(x, y)

xy
1

4

(x2 − y2)
1

4

(x2 − y2)
1

8

(x2 + y2)
1

2

https://dl.doubtnut.com/l/_iOutm0nrvAfa
https://dl.doubtnut.com/l/_p2y1s4MRaKzI


80. The locus of the middle points of all chords

of the parabola,  passing through

the vertex is:

A. a straight line

B. an ellipse

C. a parabola

D. a circle

Answer:

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_p2y1s4MRaKzI



